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TTHT=T 3397 :
(i) 1 37% Jict 3971 & I U 91 & Uk qiaFT % &1 |

(i) 3 3P It I & FH 50 - 75 Fecl & &1 /
(iii) 4-5 37H] FIc? Fo1 & IR TTHT 150 53] & 51 /
(iv) 6 3Hl Jrcd Fo1 & I TTY7T 200 el & &7 /

()  TF IJHT F Gt 9T GIg-gqr9g & &7 i |

General Instructions :

(1) Answers to questions carrying 1 mark may be from one word to one

sentence.
(it)  Answers to questions carrying 3 marks may be from 50 - 75 words.
(iit) Answers to questions carrying 4 — 5 marks may be about 150 words.
(iv)  Answers to questions carrying 6 marks may be about 200 words.

(v)  Attempt all parts of a question together.

1. Ye 3T A fafia YR % Uel o 3cdted 7q falie TR & &= a1 &1 -
ATl | USITI o |1 A SITar 8 | Ue 3IcuTgeh hHE(El Wl Teh TofITSe
FHAl "I A ¥ T FIHd €9 € 3909 T8 8 | SR U S oft 39
AT T GTHAT 9 T8l @ a7 $8eh ShIUT AT o4 dAT HIA <hl I &9 H
ITed i o Ste GHT N1 B | Afhd, Teh 9 9 39 el | 9T &1 STl 8
Tl 38 IR U1 § uREfdd o § S0 99T ot |
39 I hl HRA St hl ATEGTIHRAT i THIIT i dTel DR hl TgaH
HIT |
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In the paint industry, various raw materials are mixed in different
proportions with petroleum for manufacturing different kinds of paints.
One specific raw material is not readily and regularly available to the
paint manufacturing companies. Bonler Paints Company is also facing
this problem and because of this there is a time lag between placing the
order and the actual receipt of the material. But, once it receives the raw
materials, it takes less time in converting it into finished goods.

Identify the factor affecting the working capital requirements of this
industry.

2.  ERY 9 Tihcie IUIE hl Toh oFIE™ YEY i o1 i foran | gum o §
394 fasnd W 109% a9 AR 1 o1 @&y [uifd foman | v 3= =aurl *
A4 98 e % wfas, S fo srffeaa o, o WR @ faf<a o | 399 g
A i Tk afeRciel i T f-ufafn s @ 2 | 39 AT 1 ST 3EA
s § e o U STUR % &Y U fohAm 99T 39 AT AW % A1y e
fRaT | TR AT o STUR T Ig3a! ol Yfd oh fOI¢ 38 T fafert &1 ar
T 7 T ITel Ied1g H Toh 93 1 AR foha |

Y9 o Ush i ohl UihAT ¥ TFa(-d HRY gRT 3TUATT U Ug & =N <hl
e GLCCIE 1

Saurabh decided to start a chocolates manufacturing business. He set the
target of earning 10% profit on sales in the first year. As a good
businessman, he was concerned about the future of the business, which
was uncertain. He gathered information that the demand for chocolates
is increasing day-by-day. He used this information as the base for future
planning and shared it with his team. On the basis of the gathered
information, he scheduled a meeting in the following week to find
innovative ways to achieve the objectives.

List the first two steps, which have been followed by Saurabh that are
related to the process of one of the functions of management.

3. THISH % & YR & ¥ H Tafer’ =1 a1 @R | 1
Give the meaning of ‘Method’ as a type of plan.

4.  ‘foerientor =l giteifsg i | 1

Define ‘Decentralisation’.
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HTS W a1 3cA1G o Johsl o dioel T Teh WU Th g W3 BT 531
2
38 HYA g fsariea fopu 1T wafert & &R &1 Seorg HIfT |

‘Buy one get one free’ is printed on the label of the package of a mosquito
repellant.

State the labelling function being performed by this statement.

TR TRET0T fufEm, 1986 o IT=aiid e Iuvih faae FHemor vy 6i
FEEAT G |

Give the constitution of the District Consumer Disputes Redressal Forum
under the Consumer Protection Act, 1986.

“Torqu Jawee ST (STEYRuT)’ i THS HEqul FEi 8 ?

Why is the understanding of ‘Marketing Management Philosophies’
important ?

T A 91 feai it erafa @ fw T 20,000 goa IR gl (39 foai) o
e st =R o1 | S 3EH YR e S O 3@ 399 & fou wraes TR
@ 39 gdT =T foh I8 Gve g o |

Fravs Rt goa SR g (3SR foret) § few 9 9 "R &SRO Y ugeEe
I |
An investor wanted to invest ¥ 20,000 in Treasury Bills for a period of

91 days. When he approached the Reserve Bank of India for this purpose
he came to know that it was not possible.

Identify the reason why the investor could not invest in the Treasury Bill.

HIH™ 1 e H ITHIH TV o T o fohal al (oGl Hl HET H
HHHATST |

Explain briefly any two points of importance of consumer protection from
the point of view of business.



10. U Sl 1 fUsd 1 a8 1 a9 W I (ROI) 10 — 12% < HeF B |
1o Wt Tomrft ISht STravEeharsti o forite o T 8k 918 T 3UW o *
Fr=faiaa faepeq 2

e & : 9= X
e @ : 139 @

T Eid o &Y H foashed & A¥aT foshed @ W § HI9-A7 g8l § ? 10 IW
% THeE o wner dfv | @y & o TR # ugw saumon w1 ot Seoie
SHifsT | 3

The Return on Investment (ROI) of a company ranges between
10 — 12% for the past three years. To finance its future fixed capital
needs, it has the following options for borrowing debt :

Option ‘A’ : Rate of interest 9%

Option ‘B’ : Rate of interest 13%
Which source of debt, ‘Option A’ or ‘Option B’, is better ? Give reason in
support of your answer. Also state the concept being used in taking the
decision.

11. TSR AR o6 q99Td a0l il (VSR Sdtd | qd =9 AfshaT < =l
RITGIC @ﬁl’r{ | 3

State the steps in the selection procedure, after the employment
interview and before the job offer.

12. G THEH IS hl Ueh T%cd Jeeleh & | 39 AT w1 S 9t 918
Rl hl Th 9 2 | 98 3= 94 3Iev¥ Fulfia =@ aun faolg o7 & foig
YR il B | 98 Ik fo=ml o1 3T1e o gHYH Ll B, ATk d 39 Shedl i
TAomfed s Teh AT TSATCHS: 32T <hl TItd shL Heb | Ja-9 T 9Tl oy
7q 98 g | foemm i o1 S5 e @ |
T JgHH Ya-geh & €9 § 9 HHl-Hl SHI=TR TN & FhHcHS
gl 1 Wl ST HA B | 39 YR I8 Tty fadl hl Thihd & H %A
Bl § a1 I8 ghiTed e @ T weat < wiita g 9y |

(%) N % SFAGER ! qHTfd A & fore Tl yoer & fagra wa Afet
2 | eI g YA A TS TS et Skl gg= shifsre S sifeRrl o 3w
AT B |

(@) 39gh FAEd TN o G FHRCHS TEQ3T 1 Ioci@ hiog, TEeht
HEAT T fgHMH Ja-4eh o 9 T T L & 8 | 3
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Sandhya is a successful manager at Manisons Enterprises. She has a
team of twelve people working under her. She encourages them to set
their own objectives and take decisions. She respects their opinions and
supports them, so that they can perform their duties and accomplish
organisational objectives. To manage and exercise effective control she
uses forces within the group.

As an intelligent manager, at times, she also makes use of positive
aspects of informal communication. This way, she is able to unify diverse
interests and ensure that targets are met.

(a) There are many theories and styles of influencing people’s
behaviour. Identify the style used by Sandhya which is based on
the use of authority.

(b)  State two positive aspects of the communication discussed above,
which Sandhya is using as an intelligent manager.

(i) 3™, (ii) TP, qAT (iii) TEINU-JATE & IR W =D T SIS
TS ¥ 31=avig I |

Differentiate between formal and informal organisations on the basis of
(i) origin, (ii) authority, and (iii) flow of communication.

Teg o =01 T o HEd % foheal @R foeg3l i wHETsy |

Explain any four points of importance of the controlling function of
management.

TH U SO A1, T[ShW BEICeH h &I HEGN  IAHH,
T ffid, 7 0 TEAH % fafhcdeni % 7= HE Hl [Whd w1 U
foran | 3ueh fou 3o g1 =« iRt Tonfua Y | ue ‘Beuehat TEied il 31
fafeheaent < s1ereh Tl 1 IfREhd @ et s % forg Rrgi wdiel =i
fr:Eared HaTd ygH i qun gEd 9 "=nsl gl U fafehedenl o It HR
! FEATHT i < foe fegie snferert-s=ma & forg et fora |



& RSN ATUHRT G- 5 T & H off TaTees qarsti sl URAT =meal
or | 35 faofe forn fop mefi fufercaess anflor &= & Fr-d-n ©: 77 s
FE B | 3T Fg oft fvly forn fop wafafereashia wd=nfal it i s

STYR T h ST |
(%) < MBI o AW | TSR gICueed grr 319 Fafeheaspt =t weM fehu
M4 YTk hl U89 hIfT |

(@) 9 (%) # ggar fohu MU Ik grr Tafehcashi i fohe strawrehan <t gfd
grft ? Ieorg HIfrT |

(M) T TR @ oAl A Seo@ hiE e ek Biftuecd % HEd
HERR AR U i G T =T8d § | 4

Ram Murthy, the CEO of ‘Goodcare Hospitals’, a leading chain of
hospitals, decided to reward the good work of the doctors of his

organisation. For this he instituted two running trophies. A ‘Healthcare
Achievers Trophy’ to acknowledge and appreciate the tireless efforts of
the doctors who rendered selfless services to the patients and another
‘Beti Bachao Trophy to recognise the outstanding work done by the

doctors in saving the girl child.

The CEO also wanted to improve the health services in rural areas all
over the country. He decided that all doctors must work in rural areas for
at least six months. He also decided that the paramedical staff should be
employed locally.

(a) Identify the incentive provided by ‘Goodcare Hospitals’ to its
doctors through running trophies.

(b)  Which need of the doctors will be satisfied through the incentive
identified in part (a) ? State.

(c) State any two values that the CEO of ‘Goodcare Hospitals’ is trying
to communicate to the society.

66/3 7 P.T.O.



16.

17.

66/3

gt 3 A soigeiem fafiees’ @ og.wg e, ISD "ish 6t U Iftig sve
‘TSl At aeie @l | gER 4 Wi Rl Terfud s % fog g fa
) T A % AT FET | 3Hew i, a9, U seaeie Ieural o | S
T Tgd TEG AT A1 | I8 GHd I FHaT b A h TATTHT 6 AT FHEAT
gfafafer At Tdtetr s Sl hig ATaTIAHAT Tl & qAT 98 T8 DA HL Tohdl & |
3d:, ST o 3cUTeeh o THexnl ohl ITe fohT form Aefia st Tenfua ot feam | ety
§ e 3 g9relt 9§ SR fRT den gas = g | Wk o1 Al % wEm
TR gATS <5k o o9 § &9 81 UE 8l T3 | G a1 fodes A 7 =
T I T8 HIRI hl Ak 9 319 TAEN § EHA & | 3 g 4 .50
sogiaE fafies’ | wvaeh fohaT, [NwgiH o1 g g el g &id % g w0
L T fop wwroet g Af <A1 ST 8 <h g oft |
(%) Th T IUARR & A1d g gra Fatg fobe S aret 39 ITeiiied &
oo i o8 a8 hrgT <Al TaTd e ST HehdT T |
(@) & frdl @ stfeeprl 1 wa & wwgsy fet s gfia gra foee s
;\HT or Ife 3T U () H YgAH U AU IR 1 ety foma
|

Sumit purchased an ISI marked washing machine of a famous brand
‘MG’ from TG Electronics Ltd. The shopkeeper asked him to wait for two
days for installation of the machine. His friend, Vivek, was very fond of
experimenting with new electronic products. He told Sumit that there is
no need to wait for the company’s representative to install the machine
and that he could do it. So, both of them installed the machine without
following the manufacturer’s instructions. Initially, the machine worked
effectively and the wash was good. But after two days, the machine
stared stopping in between the wash cycle. Sumit and Vivek tried their
best to start the machine but failed in their efforts. Sumit, therefore,
approached TG Electronics Ltd., which refused to provide any service on
the plea that the installation of the machine was not done by the
company.

(a)  State the responsibility which Sumit had to fulfil as an aware
consumer to get the services of the company.

(b)  Explain briefly any two rights which Sumit could have exercised
had he fulfilled his responsibility identified in part (a).

T Sfavfd g fafwe o o graamesh &l 1 Seoh@ T |

State the protective functions of Securities and Exchange Board of India.



18.  STYHT a1 gd Tmeh! fafiee’ & < fia favmi o gieen 8 | 9 e g
& a1 -3 fawmm & fsure A g & fow swdenfen @ Ifa we |
g% & | qATU, 3ITH & 3Ll ! UItd W &IH o4 & s9F 3H-3TH
ToRIToheTTa o & T sadl UTed i hl 3BT o RN YT 9 Tgd < faum
o Wi foamfamel § T 30| B T 7 | W 3k HEd HAIGWHTE
foarg 3o &1 9a € den 9 wen faleht §1 e § | ug weenes e 1 gfd
o fou gifene fig gom 7 | feuf v o a6 mwe | R fF Tment fafies’
% J&I HRIBR! SR (CEO) I THET & THIYIH g Teh GUHRIGAl o €9 5
ot 1 fgfe et ot | feufa 1 ofia & s1ere & & g wH Sl T
Il foh STEAT 91 gd 1 1 HIRAT qAT HHA ISRV % HRU THE
379 g3 2 | 39k W 7 fob qg feufa ament fifids’ gru s1os 18 wteTeHh
TTEAT 1 IR0 7 |

ITYE I ¥ Tt Tl g1 39S T8 WieATcHs GiaqT i 8= hifg
qAT 3T YR YgAH! T3 GT=HT & fehegl di9 AT 1 Iod@ hIfT | 4

Aradhana and Gandharv are heads of two different departments in
Yumco Ltd.” They are efficient managers and are able to motivate the
employees of their respective departments to improve performance.
However, their drive to excel in their own sphere of activity instead of
giving emphasis on objectives of the enterprise has hindered the
interaction between the departments that Aradhana and Gandharv are
heading. Often there are inter-departmental conflicts and they have
become incompatible. This has proved to be harmful in the fulfilment of
the organisational objectives. The situation has deteriorated to such an
extent that the CEO of ‘Yumeco Ltd.” has hired a consultant, Rashmi, to
resolve the problem. After studying the situation closely, Rashmi found
that the problem has arisen due to inflexibility and a narrow perspective
on the part of both Aradhana and Gandharv. She is of the view that this
situation is a result of the type of organisational structure ‘Yumco Ltd.’
has adopted.

From the above information, identify the organisational structure
adopted by ‘Yumco Ltd.” and state any three advantages of the structure
so identified.
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¥ 2015 H, TEH | qrEg H AT TqaAriarqui Ssteq < e, St 98 5 9%
fafiee 4 & yerush & ®9 U HRRG A1 | WI Hl 25-THS Ugeh YH I TH
IUSTS B T gREfdd i & U &l W T Dl G B 7 98 SAETE
STQE H TAFTARA 8 T | $5eh fote 3u+ fafsme Ievor qon 39 3ewai i wifta
&q Froafea < S areft nifafefert s e fomam

Jfeh 98 Tl-ATS! o fawT W ST o1, 1q: T TMdrary FAragel off | 39
IH-90a | SIS T T Tty diel | fham i gEear % faw e
I Teh I GG TieheeR Aiemd WTgae fafide’ ey i |

TR T I8 §§A hicd AT Filh Th g ol g FREMI 1 Sl o fawa 5
AR o W forell b1 fagame T8 o1 | weg 9 Yo faw W faeqa == g8
e foruml 4 I8 9 o1 Y T | 98 wiell getedt il yWEqy €9 9
HEOHT o JfhaH ATHHER =fed giH ol [fT=a e =mgar ot | fashay q@igae
o HIEIH §, 3G 3cUTed Ud fashd i Teh d1iNeh T o418 |

34 I8 oft <@ T fora™ hadd 9 3Td 8 1 6 ohaet 9N & 8 — 4 HEHT A
HE o7 R 99 % 8 — 9 HEH Y 9HR UL WA off | 3T 7 haa A fafi=
farehedt st g i1 SAfUq 3T godieh oft o ek g i ot 9 % I
TEAT & fIU U= H A ST "l o1 | @t de & favemur & SfYR W
3 GG A1 qehqul Ud SHAREd | gRI foepedi o1 were & Hoameh foha
T | 39 ToRE bl T WE A1 € ek g 9 Sl whetg o qvETd et
IS 7 Fehdl off |

I feufd weg & TH wE Rl foRivareTi ol YRR R g | SUdw |
iRl sl 3gd hid BY 39 ToRIvdrati shi qg=i shifT qo1 3= g9asy |

In 2015, Naveen left his luxurious life in Mumbai, where he worked as a
manager for Blue Birds Ltd. He shifted to Begampur, Chhattisgarh to
fulfil his grandmother’s dream of converting their 25-acre ancestral land
into a fertile farm. For this he set out specific goals along with the
activities to be performed to achieve the goals.

Every activity was a challenge since he was clueless about farming. He
learnt every activity from filling the land to sowing the seeds. To aid

farmers he launched his own company ‘Innovative Agriculture Solutions
Pvt. Ltd’.

10



20.

66/3

It was difficult initially as no one trusted an urban youth telling farmers
about farming. But when everything was discussed in detail the farmers
started taking interest. He wanted to ensure that the future events meet
effectively the best interests of the company. Through sales forecasting,
he prepared an annual plan for production and sales.

He also found that the farmers grew only paddy, which was an activity of
3 — 4 months and the land remained idle for the rest 8 — 9 months of the
year. He not only identified but evaluated various alternatives through
which the farms could be utilised for the remaining months of the year.
Through correct foresight and logical and systematic thinking based on
analysis of all facts, all alternatives were examined and evaluated. He
presented a plan to the farmers, where after harvesting paddy,
vegetables could be grown.

The above case highlights the features of one of the functions of
management. By quoting lines from the above identify and explain these
features.

Teh USSRl B4 IE i o 00 ATE9Th M AT HIA I hid o 99,
3TMeh fava- v ® UAS 3c9Tel T Ueh STUUM IcdTesh 441 =M&dT AT | 364 <@l
foh 301G W 9 ik SAh! W AN | Ak oft | 97 37 e qen et
it UrcdTed T ATEdT A1 S A T § GWA, TATHUI-3TIRA aAT AT
B I ey I g YgH i areft @ |

UATa ICUTET ol TiGd T8I IUMTTRIST G T <l I aTelt TR 9 A9Mh
W1 I GE&Iq: higd o1 | 38 I8t "= fop g8eh o7 afoeifim o Hea qen
3I7h! TuTfaa gfafseanati sl off <= § w@r 9 |

IS o TehaAvl TF foweryor qon @&t fauve fee s & 99=rq 3§ qat =e
op IUMIAT a%q o oI I AT YW hi T8 A o 1Y B @ | STHH
TorEt IcuTe R TET 8 99 Wl I9 38 Ig ITEH 7l WM o IAIE
T HH-B-HH 3T T T hl T8 hIud & T 8 |

Hfth 98 Th U IR T YAW H @ A1, IFd: I Igwe b foh @ wdt
ARTAT Sl U 81 L AT | 98 AHar o7 o <riaiey #§ 39 a9 a9 de
Siferd 78 @ Tehd1 9 dh Teh ~Jdan oy Gfgd @yt ammd 9 7 8 A |
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30 IR & 3cargl <hl Traal SR foRivaredi dur IuwikhIsTi i Irufed
ifshaTeti o1 off Tleor R | 3R S H W U 38 YRR H $© IAlgdr
forraratt =t ST qen 3Ieagl o 3o TB-faawor @ ot o form |

ST fefa v STagmen & wraf-oa g S fob foaqvm &1 weh gurelt wfoamft st
2 | 39 Jraygron # qui faefiar shi feufa # srfesprsr wH 3caigi aem dansti
fomum % foTT weh-gat | wfafin st 3 |

(%) STAERN I TEFH HIT |

(@) 3w foufa & =fda 9 ggart 78 sayron @ grafa fohdl = S
! H&Y H GHEET |

After acquiring the necessary knowledge and skills on starting an

Aloevera Farm, Ashok wanted to be the leading manufacturer of Aloevera

products worldwide. He observed that the products were expensive as the

demand of the products was more than the supply. He was also keen to

promote methods and practices that were economically viable,
environmentally sound and at the same time protecting public health.

Ashok’s main consideration was about the amount of money paid by the
consumers in consideration of the purchase of Aloevera products. He also
thought that competitors prices and their anticipated reactions must also
be considered for this.

After gathering and analysing information and doing correct marketing
planning, he came to know that the consumers compare the value of a
product to the value of money which they are required to pay. The
consumers will be ready to buy a product when they perceived that the
value of the product is at least equal to the value of money which they
would pay.

Since he was entering into a new market, he felt that he may not be able
to cover all costs. He knew that in the long run the business will not be
able to survive unless all costs are covered in addition to a mininum
profit.

He examined the quality and features of the products of the competitors
and the anticipated reactions of the consumers. Considering the same he
decided to add some unique features to the packaging and also decided to
provide free home delivery of the products.

12



The above case relates to a concept which is considered to be an effective
competitive marketing weapon. In conditions of perfect competition most
of the firms compete with each other on this concept in the marketing of

goods and services.
(a) Identify the concept.

(b)  Explain briefly any four factors discussed in the above case related

to the concept so identified.

21. AT & 1 31Y B 2 3T fohdl IR famiwarst w1 Iearg ki | 5

What is meant by co-ordination ? State its any four features.

22. T YW % Pl § @ @ivmeh ffide’ sogies awqel &1 T fHwfof
W 7 | gres § o ue wfcnt soegies aeqetl o1 fmier s A 3w
‘TFran fafies’ St ga | 98 &0 A 1fid @ 7 | BIomes qn Arar el
% T 3eh {HASTeh, ATEehi, IfCRITRT qn SAfaeharsti i Afgdi sTafeufa
o T I €9 T JHTId Bd 8 | 3eh A(i<h, SARATd ®9 & 39 &3 hl BH
Jrefeawe § gl HAY(d, TG shi LT, Tehrileh! TRAdHT, SCTIG el & o
YT T W JATfard Bl 8 |
(%) SUY® Ao H dAfdd FaURem 6 faRiwar H qg=9H Fd F TEHH

3eo@ HINT |
(@) 39 YR % Hed % fohral IR fomgatl 1 o Iech@ HIVT | 5

‘Konark Ltd.” is an electronic goods manufacturing enterprise situated in
Shivpuri, Madhya Pradesh. It is earning a very low revenue in
comparison to a competing electronic goods manufacturing enterprise,
‘Nova Ltd.” situated in Mumbai. Both Konark’s and Nova’s operations are
affected directly by the investors, customers, competitors and suppliers,
which are unique to their respective locations. In addition to this,
individual firms of this field are affected indirectly by the factors like the
money supply in the economy, composition of the families, the
technological changes, etc.

(a) Identify and state the feature of the concept discussed in the above
paragraph.

(b)  Also, state any four points of importance of this concept.
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fafir qepiiehl T URIaR el W A T i 9l gg A SR fafiee’
T HgE WEL % U genfud fvafaene @ wvas R | i e i fafie
fifat o fere arm, fig, i qen =@a &1 == fo |

T qYT XA & &g AN g foafee’ 4 fafime wm=f i sgaw &1 @
fomfeg @ % foru wdenfal & wwa w@ Fraa ¥ gfg qon gfeswor §
FehTIcHeh Tohrd shi TTavahal JHE i | - 4 98 Wt srgwa foram b T
Il Shi TS HHATAT oh i 591G H ghg SN | 37q:, FFHT 4 86 T
HIIATE! B 1 O T |

(%) Trgfretor gfsham & 38 =01 &1 AW e RSreeh draeg § et |
HaTE! A 1 o foram |

(@) 38 $EaE & HaEEd AN 3SET fAMeE @l B dTd Ml o
Seoig T |

‘Moga Industries Ltd.” approached a well established university in the

city of Madurai to recruit qualified personnel for various technical and
professional jobs. They selected Tanya, Ritu, Garima and Chetan for

various vacancies in the organisation.

After the selection and placement, ‘Moga Industries Ltd.” felt the need to
increase the skills and abilities, and the development of positive attitude
of the employees to perform their specific jobs better. The company also
realised that learning new skills would improve the job performance of

the employees. Hence, the company decided to take action for the same.

(a) Name the step of the staffing process regarding which the company

decided to take action.

(b)  State the benefits of the action to ‘Moga Industries Ltd.’

Teh TS oh! TARM Y5t STERIRATT] I THIGT hid dTel Tohral =R hIEhI ol
&Y T TS |
Explain briefly any four factors affecting the fixed capital requirements of
an organisation.
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FHE Y A dH WEH @ U MR fuar § VAT Hiet sl @ At
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Karan Nath took over ‘D’north Motor Company’ from his ailing father
three months ago. In the past the company was not performing well.
Karan was determined to improve the company’s performance. He
observed that the methods of production as well as selection of employees
in the company were not scientific.

He believed that there was only one best method to maximise efficiency.
He also felt that once the method is developed, the workers of the
company should be trained to learn that ‘best method’.

He asked the Production Manager to develop the best method and carry
out the necessary training. The Production Manager developed this
method using several parameters right from deciding the sequence of
operations, place for men, machines and raw materials till the delivery of
the product to the customers. This method was implemented throughout
the organisation. It helped in increasing the output, improving the
quality and reducing the cost and wastage.

Identify and explain the principles and the technique of scientific
management followed by the Production Manager in the above case.
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